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Introduction

In RAN#86 meeting, a new WID [1] to NR over NTN was approved with following RAN4 objective for study. In the previous RAN4 meeting, the updated simulation assumption [2] has already been approved to trigger the further coexistence study between NTN and TN. In this contribution, we want to share some updated simulation results for further discussion in RAN4#101bis-e meeting.

	No.
	Combination
	Aggressor
	Victim
	Notes
	Study Phase

	1
	TN with NTN
	TN DL
	NTN DL
	
	Phase 1

	2
	TN with NTN
	TN UL
	NTN UL
	
	Phase 1

	3
	TN with NTN
	NTN DL
	TN DL
	
	Phase 1

	4
	TN with NTN
	NTN UL
	TN UL
	
	Phase 1

	5
	TN with NTN
	NTN UL
	TN DL
	Applicable for satellite operating in S band, e.g. coexistence with Band 34 TDD. 
	Phase 1

	6
	TN with NTN
	TN DL
	NTN UL
	Applicable for satellite operating in S band, e.g. coexistence with Band 34 TDD. 
	Phase 1


Discussions
Table 1. ACIR results for AAS based scenario
	Case #
	NTN station
	Worst option (options with >1 contributions)
	Required ACIR
	Proposed Value

	1
	GEO
	*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)
*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban - Option 2 1.5 km isolation)
	46-48 for option 1 
12-14 for Option 2
	NTN UE ACS=33dBc 

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)
*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban - Option 2  1.5 km isolation)
	30-32 for option 1

12-14 for Option 2
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban - Option 1 no isolation)
*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban - Option 2  1.5km isolation)
	30-32 for option 1

14-16 for Option 2
	

	2
	GEO
	*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)
	18-20
	NTN BS ACS=46dBc

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)
	20-22
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)
	FFS
	

	3
	GEO
	*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)
	8-10
	NTN BS ACLR=45dBc 

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)
	18-20
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)
	18-20
	

	4
	GEO
	*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Urban)
	26~28
	NTN UE ACLR=30dBc

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Urban)
	28-30
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Urban)
	22~24
	

	5
	GEO
	*NTN type (GEO) *TN BS type (AAS) *Deployment scenario (Rural)
	FFS
	NTN UE ACLR

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (AAS) *Deployment scenario (Rural)
	FFS
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (AAS) *Deployment scenario (Rural)
	FFS
	

	6
	GEO
	*NTN type (GEO @ EL = 90 deg) *TN BS type (AAS) *Deployment scenario (Rural)
	0dB
	NTN BS ACS=46dBc

	
	
	
	
	


Table 2. ACIR results for non-AAS based scenario
	Case #
	NTN station
	Worst option (options with >1 contributions)
	Required ACIR
	Proposed Value

	1
	GEO
	*NTN type (GEO) *TN BS type (non-AAS) *Deployment scenario (Urban - Option 2 1.5 km isolation)
	12-14 for Option 2
	NTN UE ACS=33dBc 

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (non-AAS) *Deployment scenario (Urban - Option 2  1.5 km isolation)
	12-14 for Option 2
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Urban - Option 1 no isolation)
*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Urban - Option 2  1.5km isolation)
	12-14 for Option 2
	

	2
	GEO
	*NTN type (GEO) *TN BS type (non-AAS) *Deployment scenario (Rural)
	FFS
	NTN BS ACS

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (non-AAS) *Deployment scenario (Urban)
	FFS
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Urban)
	FFS
	

	3
	GEO
	*NTN type (GEO) *TN BS type (non-AAS) *Deployment scenario (Rural)
	10-12
	NTN BS ACLR

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (non-AAS) *Deployment scenario (Rural)
	20-22
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Rural)
	20-22
	

	4
	GEO
	*NTN type (GEO) *TN BS type (non-AAS) *Deployment scenario (Urban)
	14-16
	NTN UE ACLR

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (non-AAS) *Deployment scenario (Urban)
	14-16
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Urban)
	16-18
	

	5
	GEO
	*NTN type (GEO) *TN BS type (non-AAS) *Deployment scenario (Rural)
	FFS
	NTN UE ACLR

	
	LEO 1200
	*NTN type (LEO1200) *TN BS type (non-AAS) *Deployment scenario (Rural)
	FFS
	

	
	LEO 600
	*NTN type (LEO600) *TN BS type (non-AAS) *Deployment scenario (Rural)
	FFS
	

	6
	GEO
	*NTN type (GEO @ EL = 90 deg) *TN BS type (non-AAS) *Deployment scenario (Rural)
	32-34
	NTN BS ACS=46dBc


Conclusions
In this contribution, we provided the simulations for Case 1/2/3/4/6 in the attachment for further discussions in the coming RAN4 meeting and proposed ACLR and ACS value are as following:

Proposal 1: for NTN UE, reuse FR1 TN UE ACLR and ACS requirements;

Proposal 2: for NTN BS, reuse FR1 TN BS ACLR and ACS requirements;
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